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Notation

1L BEAXICNLTSX) = {X 26 X ~ORHHF2EK} LT2, &(X)
FRBEHOGHICK > THEE % %, FHIC X = {1,2,...,n}: nTLHEHD

L
&, = 6({1,2,....n})

Zn RN E L&, 6, DILIC DWW TIEIRD X 9 itz w3 ¢ 7
EZIEn=3DLE,

1—2
1 2 3
= (12) =
(2 ) 3> (12) 21
3—3

(—FAD{1,2,3) 205 {1,2,3} "D—DODEHF DI HEDOEE ), —&F
EBZND &, ITBT 550E, I HICEARIZZNOMEY)Z23EH ZHR)

1—2
1 2 3
= (123) =
(2 3 1) (123) 2+ 3
3—1

DEHIIHELS, IhzeHwvs L
63 = {e,(12),(23), (13), (123), (132)}

EoF, BIZIE (123) = (12)(23) (132) = (23)(12), FTH B (FHH5ED

R, B L), Fhen=7D&LEH AL

1 23 4567
<3 6194 s 7) — (31)(6542)(7) = (31)(6542)
(2Z2TB1) = (13) D&k HInlE A (6542) = (5426) = (4265) =
(2654) D X 9 ZItIFKEIER L ITFIEN S, AR S 2 OKEIERRTH
%, (7) (EX1oXEER) ZEHE LTEKT2) , £

1 2 4
545 6T 1973 (56)
2 71 3 6 5 4



BHEDEHICET, 6T hEddiz#Eb STk TE s 2
EPREGTE L1259 GEHE X),

2. O M(£ 0) ISREOME T THE 4 SERIN, X502 DHE
B L CHifIGe € M BHFETBEE, M*Z M D (u, e BT 3)
AHILRERO R THIEREGET S M = {r € M | 27! € M}, O
E0OMODOEDIT p, e TETZHILZS D € M 2FEDOHES, M* 1
p WAL CHARICHELE 22 2 LIciHER, B2, A K OFHEICBL T
K*=K\{0} (@ =Q\{0},R*=Q\ {0}, C*=C\{0}) Z DI
BIL T 7Z* ={1,-1}, M,(R) DFEICBIL T M,(R)* = GL,(R) & &,



